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ELECTIVE BODO

Paper : 5*2

Full Marks : 80

Time : 3 hoiirs

The figures in the margin indicatefull marks
for the questions

Answer in Bodo

1. : 1x10=10

(^) TIT

(^) (Rasa) iRRR^ srtf^ ttt?

(n) 'sid'ebK' ^TPPMR
1^1

(^) asked, I know;
if you. ask me, I know not." "iFR^

(^) "JTT ^TBPfrf^ wsn^?
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( 2 )

(^) wsTT# i ^ i

(^) Tftg^ ^W^IRWTFT Mltil-Mpl "5^

(^) WRf# ^ 'pocket theatre'

(^) JHdHlPl ^RTf%8IT (plot) TTt^ WFlt^n^
TPRI^ "?Ffr?

(^) ^ yena) '̂ TI'shi '̂MI
5eii<n?

2. ^ fer ; 2x5 10

^1

(^) ^ ^ (hyperbole) 1^-
^ /•mire literature)

(tT) tn^ SfTcTT? kP
TO iTjtTiTP!Tl

(^) PiftRp, Sfi^ (element)ft

(^) -m ^r^FTtf^ is^"?
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( 3 )

1^ : 5^4=20

(^) "41^ f#t?

(^) #mfbM T§Pm (satire) 'Ruit

(n) ^wfkt ^aiWn^ (tragic hero)"!^ ttt
I4M f^l

(^) 47^ wsn^ "RT# ^ #R1

(^) dl '̂aimiR (epistolaiy novel)f^
^ Wpft 1^1

(^) (story) 3TK( ^T^ffeTSTT (plotjl^ SIRRT
4)KMiyi ^m\n I

4. (45) 4|4T (3Tci45R) ^ %
45k4144T f^l 2+8=10

V

mi\ ^? ^ trr§ht^
411^-4041 ^

2+8=10

(T^) William Henry Hudson-3lT "41^1^
WT)4R <HdKlH)H? 1%8TrgT

4n4fer-4n4T mm ^

2+8=10

^ «i^ny.w sn^t ^ sppn
in? ^wft TOira

nr nr ntft^ciTiRnT i^nr n1^I 2+8=10
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( 2 )

(^) w?TT# g 1^i

(^) l^\<^ TTT?

(^) tieiHiial ^ ^pocket theatre*

(^) wnf^ (plot)# irhiM
<mA yicKWHl ^#?

(^) ^ tid# A'nA

2. ^ te : 2x5=10

(^) TTl^RPI

(^) ^ (h3rperbole) "RT#

(^) Ti# ^ ^Hdl^ (pure literature)
^ -^m ^ ^KH\n 1

(^) Rilqltn (element)1^
1^1

(^) tit 7§Tsnf? '
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3. vjilijR^-^srFTT ywicj

1^ : 5x4=20

(^) 3^ iSSfm wit fit?

(^) yl^lRnw (satire) fit?

(^) ^ftit^ng (tragic hero)1% ihit^ ttt
IhM 1^1

(^) wsn? Tmit fit 1^i

(^) eii^^HiIX turiHi (epistolary noveI)1^ ¥lit^
TIT Wpft f^l

('^) ^ (stoiy) 3TTCt ydl4«IT (plotjfR 8TRFT
WPirit M^t<HI4l

4. (^) "T^qr (^ci4)K) Tnrit fit? %it wrwft <hhi^ %
ilit^% ikRFRT 1^1 2+8=10

TT9T

^RTT^ fit? ^ ^TBPitRto
^rmfe-^TRn TTt^rarR Hrf^ ^
^n^TPTI 2+8=10

(t§) William Henry Hudson-3TT 41^
<MciiqlHl-i? i%sn^

cTFTfe-^SIM 4I^Mnn mm ftT§T

2+8=10

#5t^ ff^ 3TRt ^ sitteT
TTT? f^f^rd^tf^ ^T?I^ TRRFT

TTT t|T 'FlO«(Qiiqti«i T^ 'FlClq^nilq i "f^j 2+8=10
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( 4 I

^^>R2ii§<gl Tn^ <glK;lqiq qi^i'il TFRT

•?nwRR w^\ t wiimtqto ^
HiHihiiisrir) to iki 10

^i?ra«ni TOsn#

wm? xter 1^ I

,("^) -HdHilH 3;n^qik# ^wtNr ti^rr ^
371^ TTT TTT TTto^ wM ^elMlR

yWiWI 2+8=10

T(3T

•^nftf^nrft ^dHI 37Rt ^dHlR

iTtrfh^irr-f^rfMl^i 10

★ ★ ★
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